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Abstract: The effect of altitute (700m, 1000m, 1300m ) on the dynamic changes of growth and de-
velopment and dry of burley tobacco was studied in Sichuan area. The results showed that the
plant height, number of leaves, leaf area and stalk perimeter were all in line with the “ Logistic”
grow th model, while altitute had significant effect on the changing parameters. Under lower alti-
tute of 700m, leaf and stalk entered fast-growth stage early, with high growth rate; the major
grow th period was from 40d to 60d after transplanting, and the plant was topped 68d after trans-
planting, then the upper and middle leaf area and stalk perimeters continued to increase. With the
increase of altitute especially at the altitute of 1300m, the growth and development became slow,
the middle and upper leaf group appeared late and grew slowly, the topping date was15 days later
than that at the altitute of 700 m, and the harvest date was 30 days late, which was not conductive
to the normal mature and air-curing.
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1 ckm= . .= Lem= .mm= : 1km=1000m, 1 = 100cm=3 , I c= 10mm
2 D= 1000 kg, kg= . L g= .mg= ; : 1t=1000kg, 1kg=1000g, 1 g=1000mg,
500g=1 ., 50g=1

3 : m’= , hm’= s em’= ; : Ihm*=10 000m*=15 ,1 =667’

4 : Img/kg mg/ L. mg° kg', mg° L™, ¢ ° L= 1X 10°= 1 ppm, . ppm  1X 10
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